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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2021

ECOACORO09T-EconoMmiIcs (CC9)

INTERMEDIATE MACROECONOMICS-I1
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
feaferfae @-cieat =5 @ Te nies

(a) What is the difference between transaction theories and Portfolio theories of
demand for money?

i bifEwin Tee-vy ¢ vl wrgd W AL & o
(b) What is meant by Precautionary demand for money?
TeF O S bifent F&Ice & @It 2
(¢) What is growth accounting?
wifdle A el F570e 5 QIR 9
(d) What is meant by intertemporal budget?
ST ST P T 2
(¢) How an investment tax credit may influence investment decision of a firm?
G F9-29 ForE Tk (s i e geifte 3@ 9
(f) What do you mean by consumption puzzle?
(oiete Ll TeTce 6 @il 2
(g) What is Solow residual?
Solow-3 SRME Fce & @RI 2
(h) What is meant by ‘Warranted Rate of Growth’ in Harrod’s growth model?
iaed Wi 2sife Rags afowm g esfegs e F @R o3 9

2. Answer any four questions from the following: 5x4 =20
fasfeiie @-cpiea 516 eivss T mes

(a) What is steady state? Derive the steady state condition in the Solow growth
model.

oM Sy o=@ I F Q@ 2 Solow-93 Tmw rore BfeRsT o=y
TET * ([F T

(b) How will you relate the concept of Tobin’s ¢ with the investment decision of
firms?

Tobin-93 ¢ ©gta A TGk K@t Paee g Feim ke 9 ¢
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Write a short note on Acceleration Theory of Investment.
RfFIeR e wre e @3 BRel @ea

Explain how an individual chooses between present and future consumption using
a life time utility function.

gFee e [FoIm I W oRFGred (iR RN SemnRaET SoiEe!
o e e S i S

Distinguish between the cases of a risk-averting plunger going for all bonds and a
risk-loving investor.

IR-~Rad RiweeR [ e 7w Be/aw-9 [N FEes o 7o e
RfcseRg 5o 35+ aifFmg ik & 9
Do you think that transaction demand for money is interest sensitive? Explain.

i & W7 0@ @ Sda EEn SifEwt Jod 29 7 @i 27 9 i

Answer any two questions from the following:
fasfeie @-cee 7 et Teq wies

How do you derive the investment function using neo-classical model of
investment? Using this theory, trace the impact of the following on investment:

(1) An earthquake or war (i) Improvement of technology

RivcieR T Fared! ©g 777 I@ o [ s Fdad T 2 92 o9
L I Ricaicsm S sferiie el erem Wi s

(F) O™ Al I= (q) T HRHER T 2yfies Tafs

Explain why individual speculative demand for money is a ‘step function” while
the aggregate demand for money schedule is downward sloping.

e e whaEe biftnt s @9 SeerEs Ifre e ANfas wifgw @
=S it e

What do you mean by Golden Rule Level of capital accumulation in the Solow
Growth model? Derive the condition that describes the Golden Rule.

Solow-3 T W(TE T 7j@redd Fefte faawls wwce & @ ¢ @2 faawfs
e At sa ¢

Briefly explain:

(i) Demonstration Effect and

(i) Ratchet Effect on consumption as stated by Duesenberry in his Relative
Income Hypothesis.

(SIPTIFe GaRETS oY 2fSFs TEMER (SITRIER B
(F) T 2o @k
(¥) i’ eeR [FeiR i FEe 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

10x2 =20
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